D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

To8)LE (7#72%7%[5%@7@&1) Z0Hh
TV s & : .
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLE#RA
dtiEE AL 4 3 ( =) 75.0% - - 1 -
dtiEE EREETH 12 1 ( —) 91.7% - 1 - -
dtiEE Mg 50 50 ( =) 100.0% - - - -
dvimE HeJI 11 6 ( =) 54.5% - - 5 -
dtimE E i 7 7 ( - ) 100.0% - - - -
dtiEE HIpET 1 1 ( =) 100.0% - - - -
dtimE R 7 4 ( =) 57.1% - - 3 -
dtiEE Yk 15 7 ( =) 46.7% 2 - 6 -
dtiEE BRIR™ 2 2 ( =) 100.0% - - - -
dtiEE #EM 1 1 ( - ) 100.0% - - - -
dtimE B#h 4 4 ( - ) 100.0% - - - -
tiEE N 2 2 ( =) 100.0% - - - -
dtimE =¥:kic) 3 3 ( - ). 100.0% - - - -
dtiEE FREH 1 1 ( - )i 100.0% - - - -
dtimE A 1 = ( =) - - 1 -
dtiEE TR 4 4 ( 1) 100.0% - - - -
dtimE EX-ai) 1 1 ( - ) 100.0% - - - -
dtimE =% 5 4 ( =) 80.0% - - 1 -
dtimE Fmh 2 2 ( - ) 100.0% - - - -
dtiEE MEAT 1 1 ( =) 100.0% - - - -
dtiEE ERB® 1 1 ( 1) 100.0% - - - -
dtiEE BRI 3 2 ( ) 66.7% 1 - - -
dtiEE REH 4 4 ( =) 100.0% - - - -
dtiEE El/NCT 4 3 ( =) 75.0% - - 1 -
dtimE E=¥ouie) 4 4 ( - ). 100.0% - - - -
dtiEE HRETRR FARITHT 3 3 ( =) 100.0% - - - -
dtimE FARTER 12 ST 1 = ( =) - - 1 -
dtiEE LR KERET 1 1 ( =) 100.0% - - - -
dtimE ZiEE JNEHT 1 1 ( - ) 100.0% - - - -
tiEE ILER  [EiRERET 2 2 ( - )i 100.0% - - - -
dtimE W ERET 1 1 ( - ). 100.0% - - - -
dtiEE HEHRER S&HT 1 1 ( - )i 100.0% - - - -
dtimE BER BHA 3 3 ( - ) 100.0% - - - -
dtiEE FHA S ERET 2 2 ( - )i 100.0% - - - -
dtimE FHEA  BWRAET 1 1 ( =) 100.0% - - - -
dtiEE AR LT 3 3 ( =) 100.0% - - - -
dbifmE B AR =+tafT 1 1 ( =) 100.0% - - - -
dtiEE B AR BN 1 1 ( - )i 100.0% - - - -
dtimE WEHE BEFEHA 4 4 ( =) 100.0% - - - -
dtiEE WHAE EXBIET 2 2 ( =) 100.0% - - - -
dbifmE B AR TRABET 1 = { =) - 1 - -
dtiEE WHAE  {EARET 1 1 ( =) 100.0% - - - -
dtiEE BERNE ANET 1 1 ( 1) 100.0% - - - -
dtiEE HFE A 1 1 ( =) 100.0% - - - -
dtiEE TR FEFHET 4 4 ( =) 100.0% - - - -
dtiEE R =R2) 1 1 ( =) 100.0% - - - -
dtiEE RME  FIFNH 1 1 ( =) 100.0% - - - -




dtimE ZZHME ERDJIET 1 1 ( )i 100.0% -
dtiEE LIIER L FRET 1 1 ( ) 100.0% -
dtimE EINER 51| ET 1 1 ( )i 100.0% -
dtiEE LIIER E3iuy 4 4 ( ) 100.0% -
dtimE TR PEREET 1 1 ( )i 100.0% -
dtiEE EILER A 2 2 ( ) 100.0% -
dtimE EINER FNEET 2 2 ( )i 100.0% -
deimE LINEs TJIET 3 3 ( ) 100.0% -
dtimE 11 ER SEIRET 3 3 ( )i 100.0% -
dtiEE B EEFAEH 1 1 ( )i 100.0% -
dtimE 11 ER oh 1| BT 3 3 ( )i 100.0% -
dtimE BEHAE INTET 6 6 ( )i 100.0% -
dtimE EHTER o RITET 5 5 ( )i 100.0% -
dtiEE ERITER FINEET 2 2 ( ) 100.0% -
dtimE EETAR  #LA 3 3 ( )i 100.0% -
dtiEE RAE I 1 1 ( )i 100.0% -
dtimE WERM  EERIET 1 1 ( )i 100.0% -
dtiEE RERD R SEET 4 4 ( )i 100.0% -
dtimE KIEE 2= 2 2 ( )i 100.0% -
dtiEE AL3CEB AL HET 2 2 ( ) 100.0% -
dtimE FIREB F AT 4 4 ( )i 100.0% -
dtiEE HAERD EIRET 1 1 ( )i 100.0% -
dtimE HAERD 2 BIET 4 4 ( )i 100.0% -
dtiEE FER A EHT 2 2 ( ) 100.0% -
dtimE FER EEET 1 1 ( )i 100.0% -
dtimE EEE  HIFFFET 1 1 ( )i 100.0% -
dtimE HEB  ESREET 3 3 ( )i 100.0% -
dtiEE HRIER TREZAT 3 3 ( )i 100.0% -
dtimE #3731 2R B RIET 1 1 ( )i 100.0% -
dtimE HBUBIER & LET 3 3 ( )i 100.0% -
dtimE #3731 BR i) 2 2 ( )i 100.0% -
dtimE WAIER  FEEERAY 1 1 ( )i 100.0% -
dtimE #3731 BR T EET 2 2 ( )i 100.0% -
dtiEE B ER & HET 4 4 ( ) 100.0% -
dtimE AL HHEET 2 2 ( )i 100.0% -
dtiEE BER BZHT 2 2 ( ) 100.0% -
dtimE SHAE  OhDHET 6 6 ( )i 100.0% -
tiEE WTRER =F=Y: 14 14 ( ) 100.0% -
dtimE WIRER FHRET 9 ( )i 100.0% -
dtiEE A # et BT 2 2 ( )i 100.0% -
dtimE SRR bpalg 11 1 ( )i 100.0% -
dtimE HRALER HRALET 6 6 ( )i 100.0% -
dtiEE MERE  RYLET 1 1 ( )i 100.0% -
dtiEE BEE  FHOLHE 7 7 ( )i 100.0% -
dtimE ATERER HEAT 1 1 ( )i 100.0% -
dtiEE SATERER T HRET 1 1 ( ) 100.0% -
dtimE EINER HiSHET 1 1 ( )i 100.0% -
dtiEE RERR [RERT 1 1 ( )i 100.0% -
dtimE 11 ER ;th EHET 2 2 ( )i 100.0% -
dtiEE RER R EFHT 2 2 ( ) 100.0% -
dtimE Fill=: 3 Fill=3i) 4 3 ( ) 75.0% 1
dtiEE EEE [EFET 9 9 ( )i 100.0% -
dtimE 1ZEE =34y 1 1 ( )i 100.0% -
dtimE EET: FEEIET 8 3 ( ) 37.5% -

Ait 357 327 ( ) 91.6% 20
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D HEERE R T 2L D — Ry T (ETALR)

WHEEEEDH(H23. 3. 311RF)

FoAIE (7#73%7%1%351?@;1) Z0Hh
T =3 & g N
H23.3.31 FSHLE r—J (FEE5%0) Bx
s FLEHRA

BHRE HHRW 2 2 ( ) 100.0% - - -
BERE LAY 3 3 ( ) 100.0% - - -
BRE \FT 1 = { ) 1 - -
BERE +HAT 1 1 ( ) 100.0% - - -
BRE Lo 2 1 ( ) 50.0% 1 - -
BERE Tt 4 4 ( ) 100.0% - - -
BRE FUEER  FRET 1 = { ) 1 - -
BERE RUEER  HhiEHRT 2 = ) 1 1 -
BRE TERER  BIRET 15 6 ( ) 40.0% - 9 -
BERE TR A 6 6 ( ) 100.0% - - -
BRE hiEEH wmEEM 5 5 ( ) 100.0% - - -
BERE BREBR  KiZE 1 1 ( ) 100.0% - - -
BRE LB ARy 1 1 ( ) 100.0% - - -
EHRE TALER B 3 1 ( ) 33.3% - 2 -
BRE TAER R 3 3 ( ) 100.0% - - -
BERE =ZF# =FHr 1 1 ( ) 100.0% - - -
BRE =Fa T BRET 4 = { ) 4 - -
EHRR =F# [ BT 1 1 ( ) 100.0% - - -
BRE ZF& A 4 4 ( ) 100.0% - -

&it 60 40 ( ) 66.7% 8 12 -

O DIFBESNABITT HIERDEH




D HEERE R T D2 ALD— Ry T (FETALR)

BIEEFELD (H23. 2. 281RE)
. FURIAEEE
MR AT sk T*{ngb Tan T C‘Eﬁg}%é et
H23.3.31 (HE280) [%] s X BT FRGE) (HEEE#0)
H23.3.31 FoAILE =L (FEER 0
s FLEHRA
EFR EEH 18 16 ( 3) 88.9% 2 - - -
EFR BEam 50 45 ( =) 90.0% 4 - 1 -
EFR Kinigm 28 16 ( =) 57.1% 12 - - -
BFR fesm 50 41 ( =) 82.0% 5 - 4 -
EFR ) 3 3 ( 1) 100.0% - - - -
BFR A#H 21 18 ( 5) 85.7% 3 - - -
EFR —M@h 47 31 ( =) 66.0% 14 - 2 -
EFR EAEET 17 6 ( =) 35.3% 9 - 2 -
EFR R 21 3 ( =) 14.3% - 14 4 -
EFR —FmW 16 16 ( =) 100.0% - - - -
EFR J\IBFH 13 10 ( =) 76.9% 3 - - -
EFR B T 26 18 ( =) 69.2% - 7 1 -
EFR EFH FERET 6 5 ( =) 83.3% 1 - - -
AFR EFR BASET 30 30 ( =) 100.0% - - - -
EFR EFH E=E 14 5 ( 1) 35.7% 8 - 1 -
AFR EFR IR 9 6 ( =) 66.7% 1 1 1 -
EFR KIRE SIRET 2 1 ( =) 50.0% - - 1 -
EFR KIRER & rhET 3 1 ( —) 33.3% - - 2 -
EFR MEE  FEFNEAT 9 7 ( =) 77.8% 2 - - -
EFR REEHE  BERET 5 4 ( =) 80.0% - 1 - -
EFR SALER X EET 13 13 ( =) 100.0% - - - -
EFR LEARE  KHRET 8 8 ( =) 100.0% - - - -
EFR TEAGE LT 22 7 ( =) 31.8% 14 - 1 -
AFR TEARER  ERAET 54 29 ( 2) 53.7% 20 - 5 -
EFR TEAGRE BEEA 4 = { =) 4 - - -
EFR TEAFE  EHRH 5 3 ( =) 60.0% 1 - 1 -
EFR AEE EERET 4 4 ( =) 100.0% - - - -
EFR RFEB FEM 3 2 ( =) 66.7% 1 - - -
EFR AEE AEH 7 7 ( =) 100.0% - - - -
EFR hFEE FEETET 13 1 =) 84.6% 2 - - -
EFR ZF#E —FHr 18 10 ( =) 55.6% 2 4 2 -
At 539 376 (12 ) 69.8% 108 27 28 -
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i HEEFEER T 2L O—F <y T (HETH A
BIEHFEELD (H23. 2. 281RH)
FoAIE (7#72%7?%%??@&1) Z0Hh

T =3 & g .

H23.3.31 J T =7 (MEE% %0 (e 50
s FLEHRA

BEHE =g 15 8 ( 2) 53.3% 1 6 -
THE "M 26 15 ( =) 57.7% 9 2 -
BEHE BEn 1 1 ( =) 100.0% - - -
THE SAlE™ 6 6 ( 1) 100.0% - - -
BEHE BAET 3 2 ( =) 66.7% 1 - -
EHE E3:vhn 1 = ( =) 1 - -
BEHE AET 4 4 ( =) 100.0% - - -
THE X 14 7 ( =) 50.0% 7 - -
BEHE FIR™ 17 8 ( 7) 47.1% 7 2 -
THE K 5 4 ( 1) 80.0% 1 - -
BEHE pUL::E: [EL) 3 3 ( =) 100.0% - - -
BERE WNEEH  toEE 4 1 ( =) 25.0% 3 - -
BEHE SEE KAIRET 2 2 ( =) 100.0% - - -
BEHE SCEHER AT 1 1 ( =) 100.0% - - -
EHE LEHER L5 T 1 = ( =) 1 - -
THE LEMAR JI BT 3 2 ( =) 66.7% - 1 -
BEHE FRER SUFRET 4 1 ( =) 25.0% 2 1 -
BEHE EHER A SHET 1 1 ( =) 100.0% - - -
R EHE  tyIiREET 2 = { =) - 2 -
BEHE 2117 AFOET 9 8 ( =) 88.9% ~ 1 -
BEHE 2118 EAHET 1 1 ( =) 100.0% - - -
THE 2117 K& 1 1 ( =) 100.0% - - -
R PIE S & FRET 2 = { =) - 2 -
BEHE fnSEER pIES) 1 = =) 1 - -
BEHE HER % )I| T 2 2 ( =) 100.0% - - -
THE AER  FA=REET 7 7 ( =) 100.0% - - -
Ait 136 85 ( 11) 62.5% 34 17 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#715%7?%%%?@&1) Z0Hh
TV s & : .
H23.3.31 J T =7 (MEE% %0 (e 50
s FLE#RA
MEE AT 19 17 ¢ =) 89.5% - - 2 -
AR Rk 5 5 ( =) 100.0% - - - -
MEE wFEh 21 20 ( =) 95.2% 1 - - -
AR KEETH 13 13 ( =) 100.0% - - - -
MEE BEM 8 8 ( =) 100.0% - - - -
AR R 24 22 ( 1) 91.7% 2 - - -
MEE AT 4 4 ( =) 100.0% - - - -
AR BFAET 56 56 ( =) 100.0% - - - -
MEE KAl 12 12 ( =) 100.0% - - - -
AR JLEkET 22 20 ( =) 90.9% 1 - 1 -
MEHE 12 ET 8 8 ( 3)  100.0% - - - -
MEER L(1TBlAs 3 3 ( =) 100.0% - - - -
MEE B AR /NSRET 3 3 ( 1) 100.0% - - - -
AR JERREER L/ H 5 4 ( =) 80.0% 1 - - -
MEE LLIAED PREHT 2 1 ( =) 50.0% - - 1 -
AR LIAER =FEAT 18 18 ( 1) 100.0% - - - -
MEE LLIAED J\IEET 1 1 ( =) 100.0% - - - -
MEHE AR B 1 1 ( =) 100.0% - - - -
MEE i AL 2R Eil 2 2 ( =) 100.0% - - - -
MHEHE R ER TR ET 31 31 ( =) 100.0% - - - -
AR HERSER  EREUEA 2 2 ( =) 100.0% - - - -
A&t 260 251 ( 6) 96.5% 5 - 4 -
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D HEEHERT 2O —F <y (HETF BI)
BIEHEFEELD (H23. 3. 31RE)
o TURIAEEE
MR AT sk T*{ngb T T C‘Eﬁg}%é et
H23.3.31 (HE280) [%] s X BT FRGE) (HEEE#0)
H23.3.31 FoAILE =L (FEER 0
s FLEHRA
8 iz 6 2 ( ) 33.3% - 4 -
[TIFiA-S KR 6 = ( ) - 4 -
1Lz 12 BT 25 19 ( ) 76.0% 2 4 -
(G2 EhiIh 1 1 ( ) 100.0% - - -
I Lt 6 4 ( ) 66.7% - 2 -
Wz it 2 2 ( ) 100.0% - - -
Lz 12 E#HM 3 3 ( ) 100.0% - - -
[TIFiAS XEM 1 = { ) - 1 -
Lz 12 IR 1 1 ( ) 100.0% - - -
iz 18 h 5 5 ( ) 100.0% - - -
I BRATLER  LL5DET 2 2 ( ) 100.0% - - -
iz 18 BAILER  FEJIET 1 1 ( ) 100.0% - - -
TG 7 FEAILE  FRET 8 8 ( ) 100.0% - - -
Lz & LA £ 1LET 1 1 ( ) 100.0% - - -
8 =LA = EHT 1 1 ( ) 100.0% - - -
[TIFiAS =LA FHZET 6 5 ( ) 83.3% - 1 -
TG 7 LR EE)IE 10 10 ( ) 100.0% - - -
iz 18 KL KEH 2 2 ( ) 100.0% - - -
TG 7 KL fik 114 5 4 ( ) 80.0% 1 - -
[TIFiAS =LA FiR% 1 = { ) 1 - -
TG 7 REBRB =8 2 2 ( ) 100.0% - - -
Wz REBA  JIFEET 1 1 ( ) 100.0% - - -
8 BEEBR  /NEET 12 12 ( ) 100.0% - - -
iz 18 HEBA  AREE 7 5 ( ) 71.4% - 2 -
8 FEB  REE 1 = { ) - 1 -
[TIFiAS REAJIA  ERET 3 2 ( ) 66.7% - 1 -
8 faimEs WL T 1 1 ( ) 100.0% - - -
Ait 120 94 ( ) 78.3% 4 20 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEEFED (H23. 2. 283

FoAIE (7#72%7%13%??&1) Z0Hh
T =3 & g N
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
BER [T 6 3 ( =) 50.0% - - 3 -
EER REEWT 18 13 ( =) 72.2% 1 - 4 -
=ER L 9 9 ( 1) 100.0% - - - -
EER WhEM 30 25 ( 3) 83.3% - - 5 -
EER B 5 4 ( 1) 80.0% 1 - - -
=EER ABT 3 2 ( =) 66.7% 1 - - -
BER EZA™ 10 7 ( =) 70.0% 3 - - -
=EER HET 3 1 ( =) 33.3% 2 - - -
EER . N /NG 26 20 ( 1) 76.9% 1 - 5 -
=EER kS 9 2 ( 1) 22.2% 2 - 5 -
BER REH 3 3 ( =) 100.0% - - - -
=’EE AREM 1 = ( =) ~ - 1 -
EER RER SAHT 1 = { =) - - 1 -
=EER {RIERR JIMRET 3 = ( =) 1 - 2 -
EEE E=F i REH 2 = ( =) 1 1 - -
=EER REEM  THET 7 1 ( 1) 14.3% 3 - 3 -
EER SEE  RRET 2 1 ( =) 50.0% 1 - - -
EER BSER E3= i) 19 1 ( =) 57.9% 7 - 1 -
BER AR dbigRA 1 1 ( 1) 100.0% - - - -
=EER HRRRER  FEsxiEET 1 1 ( =) 100.0% - - - -
BER ERRRER  FEEACET 4 3 ( 1) 75.0% 1 - - -
=EER ABEN RIERTHET 1 1 ( =) 100.0% - - - -
=ER EBER L= 2 2 ( =) 100.0% - - - -
=EER BER L) 4 4 ( =) 100.0% - - - -
=ER KiBED FRFIAE 5 5 ( =) 100.0% - - - -
=EER KiBA RiFEEHET 2 2 ( =) 100.0% - - - -
EER BmEER A 2 1 ( =) 50.0% 1 - - -
=EER HAE A 5 2 ( =) 40.0% 3 - - -
EER REJIE  REE 4 = { =) - 4 - -
=EER ES=MIE:Y b=ti) 4 3 ( =) 75.0% - - 1 -
=ER EA=T1IE:I Bk 3 3 ( 1) 100.0% - - - -
=EER AJIER TFEF 1 = { =) - - 1 -
EER RIIER o BRET 7 7 ( 3) 100.0% - - - -
=EER 2L E: =) 1 1 ( =) 100.0% - - - -
BER LS E INEFET 2 2 ( =) 100.0% - - - -
=EER WEERR [REFRT 4 4 ( =) 100.0% - - - -
=ER WEERR HEZERT 1 1 ( =) 100.0% - - - -
=EER WEERR SRUTHET 1 1 ( =) 100.0% - - - -
BER WEEER BEM 2 2 ( =) 100.0% - - - -
=EER AR EREERT 2 1 ( =) 50.0% - 1 - -
Ait 216 149 (. 14) 69.0% 29 6 32 -
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D3 S BRI

BT OANALD—R2 YT (HETAA)

BIEHEFEELD (H23. 3. 31RE)
FoAIE (7#73%7%1%351?@&1) Z0Hh

TV s & : .

H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA

E377-1 A3 2 1 ( =) 50.0% - 1 -
B3 AT 3 1 ( =) 33.3% ~ 2 -
B34 fE 1 1 ( =) 100.0% - - -
B3 BEv BT 1 1 ( - )i 100.0% - - -
ZHE BEAET 21 16 ( 2) 76.2% - 5 -
R =P 11 11 (11 ) 100.0% - - -
3771 bt 9 9 ( 5 ) 100.0% - - -
B3 ki) 2 1 ( =) 50.0% - 1 -
FHE  Ofbuhh 1 1 ( - )i 100.0% - - -
B3 #xh 3 3 ( - ) 100.0% - - -
TWE  EEXER 32 20 ( 4) 62.5% 9 3 -
TR Fagh 23 3 ( =) 13.0% 20 - -
E377- 1 T 1 = ( =) - 1 -
B3 fTAh 1 1 ( - )i 100.0% - - -
TR RREA R 1 1 ( =) 100.0% - - -
B3 AER RFHET 45 25 ( 4) 55.6% 12 8 -
B34 FRELED ESEED] 2 2 ( 2) 100.0% - - -
&it 159 97 ( 28) 61.0% 41 21 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#72%7%[3%%?@&1) Z0Hh
T =3 & g .
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
HAR FHET 9 9 ( =) 100.0% - - - -
AR RHH 3 3 ( 1) 100.0% - - - -
mARE &8 3 3 ( =) 100.0% - - - -
HARE BB 10 10 ( 1) 100.0% - - - -
HAR B 22 22 ( 15) 100.0% - - - -
HARE KHEERT 7 5 ( 3) 71.4% - - 2 -
HAR ESui 1 1 ( =) 100.0% - - - -
HAR  ERRT 15 14 ( 2) 93.3% 1 - - -
HAR 5T 9 8 ( =) 88.9% 1 - - -
HARE AT 1 = ( =) - - 1 -
HAR FERE % FHT 3 2 ( =) 66.7% 1 - - -
AR FER AT 1 1 ( - )i 100.0% - - - -
HAR BARE 1R A ET 1 1 ( =) 100.0% - - - -
HARE BARE  BIRIRAT 1 1 ( - )i 100.0% - - - -
HAR ARZERB ARZEHT 9 9 ( 6 ) 100.0% - - - -
HARE HRZERR  HRE)IET 1 1 ( - )i 100.0% - - - -
Ait 96 9 ( 28) 93.8% 3 = 3 -
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D HEEHERT 2O —F <y (HETF BI)
BIEHEFEELD (H23. 3. 31RE)
TR )L (7-)-7_;%7%%2??@?0 Z01th

TV s & : N

H23.3.31 (9] T =7 (MEE% %0 (e 50
s FLEHRA

BER RTHET 1 = ( ) - 1 -
BER =10 11 5 ( ) 45.5% 1 5 -
BER tRE™ 15 15 ( ) 100.0% - - -
BHER AHET 2 2 ( ) 100.0% - - -
BER BET 40 30 ( ) 75.0% - 9 -
BER EIllnn 12 9 ( ) 75.0% 1 2 -
BER BT 14 8 ( ) 57.1% 3 3 -
BER =R 2 2 ( )i 100.0% - - -
BER i) 14 12 ( ) 85.7% 2 - -
BHER #HEYTH 5 1 ( ) 20.0% - 4 -
BER HER  FCHET 30 26 ( ) 86.7% 4 - -
BER EZEB  RERAT 17 15 ( ) 88.2% 1 1 -
BER EERB ERAF 21 14 ( ) 66.7% 1 3 -
HER EE 3 =) 3 3 ( )i 100.0% - - -
BER EEEB  HWIEEMET 9 9 ( ) 100.0% - - -
BER FIARER A& 5 3 ( ) 60.0% 2 - -
BER FIARER k2] 2 1 ( ) 50.0% 1 - -
BER FIARER RRFNA 2 1 ( ) 50.0% - 1 -
BER FIRER AU FHET 14 12 ( ) 85.7% 2 - -
&it 219 168 ( ) 76.7% 18 29 -

(

NEBESNABITT HIERDEH




D HEEHERT 2O —F <y (HETF BI)
BIEHEFEELD (H23. 3. 31RE)
. FORIALEHE
AT HRATH Ik T*{ngb T T C‘Eﬁg}%é et
H23.3.31 (B0 [%] s X BT FRGE) (HEEE#0)
H23.3.31 FoAILE =L (FEER 0
s FLE#RA
HES Nl 2 2 ( )i 100.0% - - -
BER na 1 = ) - 1 -
BER :3'410) 38 38 ( )i 100.0% - - -
HER FriR™ 1 1 ( ) 100.0% - - -
BER SRAET™ 11 9 ( ) 81.8% - 1 -
BER eI 8 3 ( ) 100.0% - - -
BER i 1 = ( ) - 1 -
BER AR 1 1 ( )i 100.0% - - -
BER e 1 1 ( )i 100.0% - - -
BER AEM 1 = ( ) - 1 -
BER EFH 1 1 ( )i 100.0% - - -
BHER PNt ESILET 10 10 ( ) 100.0% - - -
BER ARER HAEET 5 5 ( )i 100.0% - - -
BER JaaaEii /N IET 1 1 ( ) 100.0% - - -
BER LB EEAVDET 2 2 ( )i 100.0% - - -
BER BRE T HAET 3 3 ( )i 100.0% - - -
HES BREB i 6 6 ( )i 100.0% - - -
BER BRE RRET 3 3 ( )i 100.0% - - -
HES BRE  /NEERET 5 5 ( )i 100.0% - - -
BER RER 1 [ ET 4 4 ( ) 100.0% - - -
BER KER HEE 2 1 ( ) 50.0% 1 - -
HER R E X =1 3 3 ( ) 100.0% - - -
BER JEEEER  HMRET 1 1 ( )i 100.0% - - -
Ait 106 100 ( ) 94.3% 1 4 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

. TURIAEEE
MR AT sk T*{ngb Tan T C‘Eﬁg}%é et
H23.3.31 (B0 [%] s X BT FRGE) (HEEE#0)
H23.3.31 FoAILE =L (FEER 0
s FLEHRA

FER FEM 8 5 ( =) 62.5% - - 3 -
FER g 2 2 ( - )i 100.0% - - - -
FER fEILTH 4 4 ( =) 100.0% - - - -
FER WEM 2 1 ( =) 50.0% - - 1 -
FER R E 28 27 ( 3) 96.4% 1 - - -
FER ER™ 2 2 ( - )i 100.0% - - - -
FER B 1 1 ( =) 100.0% - - - -
FER BEEHH 1 = ( =) - - 1 -
FER i=hil 1 = ( =) - - 1 -
FER B 7 6 ( =) 85.7% - - 1 -
FER MR 3 2 ( =) 66.7% - - 1 -
FER INFRT 2 = ( =) - - 2 -
FER KBFH 1 1 ( =) 100.0% - - - -
FER BRIl 17 15 ( 1) 88.2% - - 2 -
FER iz 2 1 ( =) 50.0% - - 1 -
FER Hhor AT 2 2 ( - )i 100.0% - - - -
FER I\ 3 1 ( =) 33.3% - - 2 -
FER BT 24 20 ( 5) 83.3% 1 - 3 -
FER [f BT 12 12 ( =) 100.0% - - - -
FER Fmh 26 26 ( - )i 100.0% - - - -
FER Wi 20 20 ( 2) 100.0% - - - -
FER W A 1 1 ( —) 100.0% - - - -
FER ENAEED SKET 5 5 ( =) 100.0% - - - -
FER FEEB TR T 1 1 ( - )i 100.0% - - - -
FER FEE % ET 19 19 ( 1) 100.0% - - - -
FER LLIEER ZILET 23 19 ( 1) 82.6% 1 - 3 -
FER WA SR 8 8 ( =) 100.0% - - - -
FER RER B iR BT 1 1 ( - ) 100.0% - - - -
FER RIBE K2 ERE 1 1 ( =) 100.0% - - - -
FER B fENTE BT 1 = ( =) - - 1 -
FER RER SR mET 1 1 ( =) 100.0% - - - -
&it 229 204 (13 ) 89.1% 3 - 22 -
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Byt HAXX 1 = ( =) - - 1 -
Eyt X 1 = ( =) - - 1 -
R NEFH 11 8 ( =) 72.7% - - 3 -
R HiEm 2 2 ( - )i 100.0% - - - -
R BT 5 4 ( =) 80.0% - - 1 -
R BEH 1 1 ( - )i 100.0% - - - -
BRI ¥ i) 1 = ( =) - 1 - -
R EEML® 1 1 ( - )i 100.0% - - - -
RRE  HEIHM 2 1 ( =) 50.0% - - 1 -
R TEZERN HOLHE 2 2 ( - ) 100.0% - - - -
R TEEEN BB ER 9 6 ( 1) 66.7% - - 3 -
R BLER KSH 2 2 ( - )i 100.0% - - - -
R BLER FreEH 1 1 ( 1) 100.0% - - - -
Byt BELER DNEEN 3 3 ( 3 ) 100.0% - - - -
Ait 42 31 ( 5) 73.8% - 1 10 -
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ME)IR HE™ 52 49 ( ) 94.2% - 3 -
AW Nig 6 6 ( )i 100.0% - - -
MRNE  HWAEN 16 13 ( ) 81.3% - 1 -
BRI #ath 3 2 ( ) 66.7% - - -
EEENES BRiR™ 1 1 ( ) 100.0% - - -
®wRNE | DEERT 1 1 ( )i 100.0% - - -
EEENES EFm 2 2 ( ) 100.0% - - -
wRNE | EERT 44 27 ( ) 61.4% - 17 -
AE)R =Em 2 1 ( ) 50.0% - - -
BRI E-Ja0) 1 1 ( )i 100.0% - - -
EEENES [EV NG 2 2 ( ) 100.0% - - -
wERNE | BEEW 2 2 ( )i 100.0% - - -
BENE FERATH 1 = ( ) - 1 -
#WERNE | EEMmT 1 = ( ) - 1 -
AE)R ZIEE ZE LB 2 2 ( ) 100.0% - - -
WG AR KEET 1 = ( ) - 1 -
EEENES thER Z=HT 1 1 ( ) 100.0% - - -
MWRNE | BHLE AT 3 3 ( )i 100.0% - - -
AE)NE | BWMLEE  KIHE 2 2 ( ) 100.0% - - -
WENE | BHLE LdtEr 11 11 ( ) 100.0% - - -
MRNE  BWTE  FERET 16 6 ( ) 37.5% 6 4 -
#WERNE | BHRTE  E#BE 1 = ( ) - 1 -
AENE | BWRTE  HERAET 1 1 ( ) 100.0% - - -
fENITS EEE 21|87 1 9 ( ) 81.8% 1 1 -
Ait 183 142 ( ) 77.6% 7 30 -
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HRE Ham 13 12 ( =) 92.3% - - 1 -
Eipl KA 47 44 ( =) 93.6% ~ - 3 -
HRE =&m 26 24 ( =) 92.3% 2 - - -
Eipl 0 51 45 ( 1) 88.2% 3 - 3 -
HRE FFEEH 10 8 ( =) 80.0% - - 2 -
Eipl INFATH 23 21 ( =) 91.3% - - 2 -
HRE T 22 20 ( =) 90.9% 2 - - -
Eipl an=Lin: 101 88 ( =) 87.1% 7 - 6 -
HRE Rt 17 17 ( =) 100.0% - - - -
Eipl L 7 7 ( =) 100.0% - - - -
HRE Feh 1 1 ( 1) 100.0% - - - -
FRER REIH 13 13 ( =) 100.0% - - - -
HRE wEm 2 1 ( =) 50.0% - - 1 -
Eipl AR 7 7 ( =) 100.0% - - - -
HRE Lt 82 81 ( 1) 98.8% 1 - - -
Eipl fa & Br 2 2 ( =) 100.0% - - - -
Fing kg 15 5 ( =) 33.3% - 6 4 -
Hiag i3 20 20 ( =) 100.0% - - - -
HRE [ap:ben 22 19 ( =) 86.4% 3 - - -
Eipl fam™ 3 3 ( =) 100.0% - - - -
Fing EoEERT - = { =) - - - -
Eipl IREM 1 1 ( =) 100.0% - - - -
Fing M _E BT = = { =) - - - -
FRER 7] % BT 30 30 ( =) 100.0% - - - -
Fing H E I AT 2 2 ( =) 100.0% - - - -
Hiag i iR BT 4 2 ( =) 50.0% 2 - - -
HRE b=l 23 19 ( =) 82.6% 2 - 2 -
Eipl pUPRES) - = { =) - - - -
HRE ESITES) 4 4 ( =) 100.0% - - - -
Eipl REHEM 1 1 ( =) 100.0% - - - -
Ait 549 497 ( 3) 90.5% 22 6 24 -
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H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
EWE s 5 3 ( =) 60.0% - 2 - -
EWLg s 1 1 ( =) 100.0% - - - -
EWE aiEm 2 2 ( =) 100.0% - - - -
EWLg KR 2 2 ( =) 100.0% - - - -
EWE 2T 1 1 ( =) 100.0% - - - -
ELg iR 2 2 ( =) 100.0% - - - -
EWE Al 2 2 ( =) 100.0% - - - -
ELg REIER LTHET 2 2 ( =) 100.0% - - - -
Ait 17 15 (=) 88.2% - 2 - -
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allg IR 32 28 ( =) 87.5% - 4 - -
AR tEm 60 46 ( =) 76.7% - 14 - -
AR INEAT 19 19 ( - )i 100.0% - - - -
RINE wem 68 62 ( =) 91.2% - 6 - -
AR KRN 16 16 ( =) 100.0% - - - -
RINE e 6 5 ( =) 83.3% - 1 - -
RINE HMETH 4 4 ( =) 100.0% - - - -
BINE MELTH 9 8 ( =) 88.9% - 1 - -
AR B 17 15 ( =) 88.2% - 2 - -
RINE BEXT 4 4 ( =) 100.0% - - - -
g AL ER RIEET 8 8 ( - )i 100.0% - - - -
BINE FIVERR AT 39 39 ( =) 100.0% - - - -
BIIR FEEKET 5 4 ( =) 80.0% - 1 - -
RINE BESE  HEEEET 3 3 ( =) 100.0% - - - -
RINE BERER FUKET 21 18 ( =) 85.7% - 3 - -
AR REBHT 7 7 ( =) 100.0% - - - -
Ait 318 286 ( -) 89.9% - 32 - -
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H23.3.31 FoAILE =L (FEER 0
s FLEHRA

EHE EHm 31 31 ( =) 100.0% - - - -
EHE HEN 2 2 ( =) 100.0% - - - -
EHE INET 1 1 ( =) 100.0% - - - -
EHE KEH 6 6 ( =) 100.0% - - - -
EHE LT 7 7 ( =) 100.0% - - - -
EHE I 2 2 ( =) 100.0% - - - -
EHE Hhiomh 3 3 ( =) 100.0% - - - -
EHE AT 3 3 ( =) 100.0% - - - -
EHE HHE  KFEFE 3 2 ( =) 66.7% - 1 - -
EHE SIER th EET 9 9 ( =) 100.0% - - - -
EHE FHERR LATET 5 5 ( =) 100.0% - - - -
EHE =HE ERAT 2 2 ( =) 100.0% - - - -
EHE KERER  BHUET 1 1 ( =) 100.0% - - - -
BHE  SHLRE EME 5 5 ( =) 100.0% - - - -
Ait 80 79 (- 98.8% - 1 - -
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T =3 & g .

H23.3.31 (9] T =7 (MEE% %0 (e 50
s FLE#RA

TSRS HRFH 3 3 ( =) 100.0% - - - -
[T ErE@AT 1 = ( =) - 1 - -
TSRS BT 16 16 ( =) 100.0% - - - -
I XA 37 28 ( 5 ) 75.7% 1 - 8 -
(T T 1 = ( =) - - 1 -
WHER @E7ATRE 1 1 ( - ) 100.0% - - - -
(T deatt 1 1 ( =) 100.0% - - - -
T S = = =) - - - -
TSRS HRH 4 4 ( =) 100.0% - - - -
IS LR 55 14 ( ) 25.5% 8 33 - -
(T /\XER i) = 4R HT 1 1 ( =) 100.0% - - - -
T3 MEER  RIIET 10 9 ( 7) 90.0% 1 - - -
TSRS BMEER ST 2 2 ( =) 100.0% - - - -
(T3 FEER  FIEET 18 14 ( 1) 77.8% 4 - - -
TSRS FEER ZL)IEr 2 2 ( =) 100.0% - - - -
T3 MEMBH  EEH 19 2 ( =) 10.5% 16 - 1 -
TSRS FIEREA  FEiEHT 1 1 ( =) 100.0% - - - -
T3 HHBEH SLAnHME 3 = ( =) - 2 1 -
(T JLEEER  FHRWLA 1 1 ( =) 100.0% - - - -
At 176 99 ( 13) 56.3% 30 36 11 -
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REFR REH 64 59 ( ) 92.2% 5 -
RER AT 5 4 ( ) 80.0% - -
REFR @ 11 10 ( ) 90.9% - -
REFR fREAT 6 3 ( ) 50.0% 2 -
REFR HmEAT 1 = ( ) - -
REFR INGETH 1 1 ( ). 100.0% - -
REFR KETTH 3 3 ( ) 100.0% - -
REE TR 7 5 ( ) 71.4% - -
REFR &A™ 12 10 ( ) 83.3% 2 -
REE REHH 4 4 ( ) 100.0% - -
REFR N ET 5 2 ( ) 40.0% 3 -
RER JNEF 1 1 ( ) 100.0% - -
REFR rkt 1 = ( ) - -
RER 1E A TEHT 5 5 ( ) 100.0% - -
REFR B2 iR AT 6 5 ( ) 83.3% 1 -
RHR 14X EH BT 1 1 ( ) 100.0% - -
REFR BAH 8 8 ( )i 100.0% - -
RER =EHEF 1 1 ( ) 100.0% - -
REFR Fa 88 A+ 4 3 ( ) 75.0% - -
RER BARHA 3 3 ( ) 100.0% - -
REFR KREHET 2 = ( ) - -
REFR FREERT 8 8 ( ). 100.0% - -
REFR FALH 10 10 ( ) 100.0% - -
REFR ;th EET 4 3 ( ) 75.0% 1 -
REFR BEH 6 6 ( ) 100.0% - -
RER L/ BT 7 6 ( ) 85.7% 1 -
REFR {ERET 5 4 ( ) 80.0% 1 -
RER kD) 13 13 ( ) 100.0% - -
REFR SRARET 7 7 ( )i 100.0% - -
RER 0] 14 14 ( ) 100.0% - -
Ait 225 199 ( ) 88.4% 16 -
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s FLEHRA
It R 12 Iz 2 77 52 49 ( =) 94.2% - - 3 -
Iz £ 1 KB 3 3 ( =) 100.0% - - - -
It R IR ST 76 74 ( 7) 97.4% 1 1 - -
Iz £2 1 ES=N 7 7 ( =) 100.0% - - - -
It R IR il 50 49 ( =) 98.0% 1 - - -
Iz £2 1 i)l 25 21 ( 1) 84.0% 2 - 2 -
It R IR xR 25 25 ( =) 100.0% - - - -
Iz £2 15 iR 1 1 ( =) 100.0% - - - -
IFRE  ERMES 5 5 ( =) 100.0% - - - -
Iz £2 15 T 6 6 ( =) 100.0% - - - -
It R IR EHRT 8 8 ( =) 100.0% - - - -
Iz E2 1% AR 6 6 ( =) 100.0% - - - -
It R IR IR 14 14 ( =) 100.0% - - - -
Iz £2 15 FeEEH 15 15 ( =) 100.0% - - - -
It R 12 RET 13 13 ( 1) 100.0% - - - -
Iz £2 15 ML 22 22 ( =) 100.0% - - - -
It R 12 Tam 11 1 ( =) 100.0% - - - -
Iz £2 1 THEER By IRAT 1 1 ( =) 100.0% - - - -
It R 1R 1BER  BZE)IET 10 10 ( =) 100.0% - - - -
Iz £2 1 fnEER IRALET 1 1 ( =) 100.0% - - - -
It R 12 ANEEER JII 0BT 1 1 ( =) 100.0% - - - -
Iz £2 15 fnBEER tIRET 8 8 ( =) 100.0% - - - -
It R 12 mEE NS 6 6 ( =) 100.0% - - - -
Iz £2 15 fnBEER =ML 7 7 ( =) 100.0% - - - -
It R IR AIRER S ET 3 3 ( =) 100.0% - - - -
g £ 1 REFER =MIES) 3 3 ( =) 100.0% - - - -
Ait 379 369 ( 9) 97.4% 4 1 5 -
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s FLEHRA
BofE 2 FefE 91 82 ( 3) 90.1% 2 7 -
el ETH 188 173 ( 4) 92.0% 14 1 -
BofE 2 BEW 10 10 ( - )i 100.0% - - -
el Bt 13 12 ( =) 92.3% - 1 -
BofE 2 =5 1 = ( =) - - -
el ELTEW 13 13 ( 2) 100.0% - - -
B2 FR® 3 3 ( =) 100.0% - - -
el BHETM 40 37 ( =) 92.5% - 3 -
BofE 2 Bt 1 1 ( - )i 100.0% - - -
el EHEh 7 6 ( =) 85.7% - 1 -
BofE 2 Bem 2 2 ( - )i 100.0% - - -
il #ITH 48 48 ( 2) 100.0% - - -
BofE 2 3 21 21 ( - )i 100.0% - - -
el il 1 1 ( =) 100.0% - - -
BofE 2 _Hm 15 15 ( - )i 100.0% - - -
el THW 14 13 ( =) 92.9% - 1 -
B2 FEH 1 1 ( =) 100.0% - - -
il P 1 1 ( =) 100.0% - - -
B2 FEm 109 89 ( 12) 81.7% 4 16 -
il i 4 4 ( =) 100.0% - - -
FaRE IR FEOETH 26 19 ( =) 73.1% - 7 -
el Wz Rj 8 8 ( =) 100.0% - - -
BofE 2 BEB RE=E 3 3 ( 1) 100.0% - - -
el B o= 38 5 5 ( =) 100.0% - - -
BofE 2 BEB R 17 17 ( 3)  100.0% - - -
B2 BIEA HAEET 5 3 ( 1) 60.0% - 2 -
B2 Bxa HEHERE=E 12 12 ( =) 100.0% - - -
el HAR  ErEET 7 7 ( =) 100.0% - - -
FaRE IR ESTRED /INLLIET 8 8 ( =) 100.0% - - -
FREIR BIRE JIARARET 17 16 ( 4) 94.1% - 1 -
B2 BEE fediog 19 18 ( 1) 94.7% 1 - -
Ait 710 648 (33 ) 91.3% 21 40 -

O IIFBESNABITT HIERDEH




D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

o TURIAEEE
AT HRATH Ik T*{ngb T T (—/.5_?;;;1%? et
H23.3.31 (B0 [%] s BT FRGE) (HEEE#0)
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s FLE#RA

ZHE 20 4 4 ( =) 100.0% - - - -
BHR ] Us T 12 12 ( =) 100.0% - - - -
BHE R 3 = ( =) - - 3 -
ZHE HRHAM 1 1 ( - ) 100.0% - - - -
BHE )i 6 6 ( - ). 100.0% - - - -
B ZHT 27 26 ( =) 96.3% - - 1 -
ZHE SEAT 3 2 ( =) 66.7% - 1 - -
B PN 3 3 ( =) 100.0% - - - -
BHE T 3 2 ( =) 66.7% - 1 - -
B MEH 13 13 ( =) 100.0% - - - -
BHE HMEE  FHSBHET 2 2 ( - ). 100.0% - - - -
BHR JLEREERD  SREAT 11 1 ( =) 100.0% - - - -
BHE FRET 12 12 ( - ). 100.0% - - - -
ZHE SR 4 4 ( - ) 100.0% - - - -
At 104 98 (  -) 94.2% - 2 4 -
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vz FSaLE e o | -
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H23.3.31 FSHLE r—J (FEE5%0) Bx

s FLEHRA

=58 b=007) 12 10 ( =) 83.3% - 2 - -
=58 REm 1 1 ( =) 100.0% - - - -
=58 AR 1 1 ( - )i 100.0% - - - -
=ZER AR 5 5 ( =) 100.0% - - - -
=58 BEm 3 3 ( =) 100.0% - - - -
=ZER gl 3 3 ( =) 100.0% - - - -
=58 ZRE0 KEHET 12 12 ( - )i 100.0% - - - -
=58 EsR KHCHET 1 1 ( =) 100.0% - - - -
=58 ERE  FARTET 1 1 ( =) 100.0% - - - -
=ER dEER  HodET 12 10 ( =) 83.3% - 2 - -
=58 e 2 . P 3 3 ( =) 100.0% - - - -
= MREH  fLEE 4 3 ( =) 75.0% - 1 - -
At 58 53 (  -) 91.4% - 5 - -
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T =3 & g .
H23.3.31 J T =7 (MEE% %0 (e 50
s FLE#RA
BER Kz 10 6 ( =) 60.0% 1 - 3 -
HER ERM 2 2 (. -) 100.0% - - - -
BER iR 13 13 ( - )i 100.0% - - - -
HER Eeni 12 12 ( =) 100.0% - - - -
HER it 5 5 ( =) 100.0% - - - -
HER ™ 2 2 ( - ) 100.0% - - - -
HER S 9 9 ( =) 100.0% - - - -
HER $igan;) 3 3 ( =) 100.0% - - - -
BER SRR =Lz 6 6 ( - )i 100.0% - - - -
HER KEE 21 10 10 ( =) 100.0% - - - -
Ait 72 68 (- 94.4% 1 - 3 -
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RERRT RERTH 84 77 ( =) 91.7% 3 - 4 -
RERRF BELT 60 48 ( —) 80.0% - 12 - -
RERRT S 66 66 ( =) 100.0% - - - -
RERRF fEERT 57 52 ( -) 91.2% - 2 3 -
RERRT FiA™ 14 14 ( =) 100.0% - - - -
RERRF BT 25 23 ( =) 92.0% - 2 - -
RERRT =iEm 11 1 ( =) 100.0% - - - -
RERRF RERT 5 4 ( =) 80.0% - 1 - -
RERRT J\iET 2 2 ( =) 100.0% - - - -
RERRF READH 4 3 ( =) 75.0% 1 - - -
RERRT ey 4l 43 41 ( =) 95.3% - 2 - -
RERRF W 19 19 ( =) 100.0% - - - -
REDAT K 5 4 ( =) 80.0% - - 1 -
RERRF ZEE  RiLugHET 1 1 ( =) 100.0% - - - -
RERRT BER FAHEHRAT 14 10 ( =) 71.4% - - 4 -
RERRF HEEER T ERT 1 1 ( =) 100.0% - - - -
RERRT HEE FNZRET 1 1 ( =) 100.0% - - - -
RERRF FREED FEEEAT 1 1 ( =) 100.0% - - - -
RERRT HAEE  ELEA 1 1 ( =) 100.0% - - - -
RERRF AR RFHRET 27 27 ( =) 100.0% - - - -
RERRT B {RIRET 12 1 ( =) 91.7% 1 - - -
RERRT B 5B 6 6 ( =) 100.0% - - - -
Ait 459 423 (. -) 92.2% 5 19 12 -
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s FLEHRA
KBRAF #h 2 1 ( ) 50.0% - 1 -
KBRAF thET 1 1 ( ) 100.0% - -
KBRAF STk 8 5 ( ) 62.5% - 3 -
KBRAF WA 6 5 ( ) 83.3% ~ 1 -
KBRAF =BT 4 4 ( ) 100.0% - -
PN BE)IH 2 2 ( ) 100.0% - -
KRAF ARRET 18 17 ( ) 94.4% - 1 -
KBRAF PN 3 1 ( ) 33.3% ~ 2 -
KB AF R 9 8 ( ) 88.9% - 1 -
PN HE 3 3 ( ) 100.0% - -
KBRAF HaRT 2 2 ( ) 100.0% - -
KBRAF PIREFH 1 1 ( ) 100.0% - -
KBRAF RAMR 1 1 ( ) 100.0% - -
PN REH 1 1 ( ) 100.0% - -
PN e E3 1 1 ( ) 100.0% - -
KBRAF XEHH 3 3 ( ) 100.0% - -
KRAF KBR¥E LT 1 = { ) - 1 -
PN BrEgH 4 4 ( ) 100.0% - -
KBRAF =B BT 1 ( ) - 1 -
KBRAF LR L AT 8 8 ( ) 100.0% - -
KB AF EHERD HESAET 19 18 ( ) 94.7% - 1 -
PN REE WEIET 5 4 ( ) 80.0% - 1 -
KBRAF BAIRER  KFHET 6 5 ( ) 83.3% - 1 -
KBRAF BAINER FRRERHA 1 1 ( ) 100.0% - -
At 110 9% ( ) 87.3% = 14 -
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FoAIE (7+§é?ﬁg§§+;@$r> Z0Hh

T =3 & g N

H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA

EER AEm 67 61 ( ) 91.0% 1 4 1 -
EER SRRk 16 15 ( ) 93.8% ~ - 1 -
EER wEm 9 8 ( ) 88.9% - 1 -
EER FEM 3 3 ( ) 100.0% - - -
EER HET 11 10 ( ) 90.9% - - 1 -
EER b 82 78 ( ) 95.1% - 4 -
EER piEgling 3] 2 ( ) 66.7% - - 1 -
EER Figm 41 41 ( ) 100.0% - - -
EER i) 31 28 ( ) 90.3% - - 3 -
EER E3-371 9 = { ) - 9 -
EER =K 21 21 ( )i 100.0% - - -
EER =120 3 3 ( ) 100.0% - - -
EER N 1 1 ( ) 100.0% - - -
EER INEFTH 6 6 ( ) 100.0% - - -
EER =@M 22 20 ( ) 90.9% - 1 1 -
EER N 27 26 ( ) 96.3% 1 - -
EER Elh 56 52 ( ) 92.9% - 3 1 -
EER BRW 1 1 ( ) 100.0% - - -
EER FHE™ 89 85 ( ) 95.5% 1 - 3 -
EER ERT 3 1 ( ) 33.3% - 1 1 -
EER REM 56 55 ( ) 98.2% - 1 -
EER nE 14 14 ( ) 100.0% - - -
EER =20 36 36 ( ):  100.0% - - -
EER NDER  ¥ERNIET 10 8 ( ) 80.0% - 2 -
EER EF: % AT ET 9 9 ( ) 100.0% - - -
EER 1R ER 1 ET 15 12 ( ) 80.0% 2 - 1 -
EER PRI ER 12 IBET 7 6 ( ) 85.7% 1 - -
EER 1R ER T ET 1 1 ( ) 100.0% - - -
EER R AFHET 5 5 ( ) 100.0% - - -
EER FREEER L ERET 27 27 ( ) 100.0% - - -
EER {ERER {k FRET 46 46 ( ) 100.0% - - -
EER EHE T 23 23 ( ) 100.0% - - -
EER EXAE  HRRET 11 1 ( ) 100.0% - - -
At 761 715 ( ) 94.0% 6 26 14 -
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i HEEFEER T 2L O—F <y T (HETH A
BIEHEFEELD (H23. 3. 31RE)
o TURIAEEE
MR AT sk T*{ngb Tan T (—/.5_?;;;1%? et
H23.3.31 (B0 [%] s BT FRGE) (HEEE#0)
H23.3.31 FoAILE =L (FEER 0
s FLEHRA
=RE =R 16 15 ( ) 93.8% - 1 -
=RE KRFIARILIT 1 = { ) - - -
=RE REH 6 5 ( ) 83.3% - 1 -
=RE iR 16 14 ( ) 87.5% - 2 -
=RE EfEm 20 19 ( ) 95.0% - 1 -
=RE R 2 2 ( ) 100.0% - - -
=RE Fem 5 = ( ) - 5 -
=RE Fem 22 22 ( ) 100.0% - - -
=RE AEEER EEET 2 2 ( ) 100.0% - - -
=RE HEEER =JERET 1 1 ( ) 100.0% - - -
=RE EEE  ESFET 1 1 ( ) 100.0% - - -
=RE SEH =BT 1 1 ( ) 100.0% - - -
=RE Bz KigHr 1 1 ( ) 100.0% - - -
=RE SEH T 1 1 ( ) 100.0% - - -
=RE EHA  Fals 5 5 ( ) 100.0% - - -
=RE EHH RN 1 1 ( ) 100.0% - - -
At 101 90 ( ) 89.1% = 10 -

(
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=n, —

i HEEFEER T 2L O—F <y T (HETH A
BIEHEFEELD (H23. 3. 31RE)
7SI <7+Tu7fx§b]étf&+7$r> Zott

TV s .

H23331 ° T =7 (MEE% %) (e 50
s FLEHRA

MPULE | FnFrlTh 29 28 ( ) 96.6% - -
MG BrEm 31 28 ( ) 90.3% 2 -
MR BA® 11 1 ( ) 100.0% - -
IEATITS] AHT 2 2 ( ) 100.0% - -
MALE fiibEil 7 7 ( ) 100.0% - -
MR 2:puki 60 60 ( ) 100.0% - -
MALE HeEm 3 3 ( ) 100.0% - -
MILE L o)lh 14 14 ( ) 100.0% - -
MALE AT 2 2 ( ) 100.0% - -
MG BEER  ACEEET 25 25 ( ) 100.0% - -
MALE FERE  HDOLEE 15 14 ( ) 93.3% - -
RIEATITS] {RERER  SLEEILAT 4 4 ( ) 100.0% - -
MALE RERER = EFET 19 17 < ) 89.5% 2 -
IEATIT] HHEB i AT 4 3 ( ) 75.0% - -
IR HHEE 5187 4 4 ( )i 100.0% - -
MG HFHE  AHIE 51 50 ( ) 98.0% - -
MALE BEE EFi 1 1 ( ) 100.0% - -
RIEATITS] BEE 1 RAT 4 4 ( ) 100.0% - -
MALE BEA FNE T 16 12 ( ) 75.0% 4 -
MR BEE  AEET 4 4 ( ) 100.0% - -
MALE BEE  BSIJIET 1 1 ( ) 100.0% - -
MR BHEER QR 23 15 ( ) 65.2% 1 -
MPULE  FwEER LEM@EAET 9 7 ( ) 77.8% 2 -
MR ERER  JEHET 10 10 ( ) 100.0% - -
MALE | REER IEREET 16 16 ( ) 100.0% - -
MR | HEER  BAE 5 5 ( ) 100.0% - -
Ait 370 347 ( ) 93.8% 11 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

A)L1E ;ggﬁ;zl;étgﬁi
TR =5 (PHRTRERTET) Z0ith .
‘ ‘ A HISH gl () @mpEE~ | FEES
bR R ATH H23.331 (FEERHD) RUE wasene | BHE
H23.3.31 ° FUALE r—J) (HESR %) Bx
HE FLEHRA
ERE 124 24 21 ( - 87.5% - 3 - -
BmWER KF 3 3 ( =) 100.0% - - - -
BEEE BER E=E i) 7 7 ( =) 100.0% - - - -
SIE J\BEER EHRET 2 2 ( =) 100.0% - - - -
BHlE J\EEEB EIEEET 9 8 ( =) 88.9% 1 - - -
BEHR J\BEEB J\EBET 7 3 ( - ) 42.9% - 4 - -
BEE (= = HEr 2 2 ( =) 100.0% - - - -
BEHR izg (=4 KILIET 4 4 ( =) 100.0% - - - -
ERE Licg(=F: I ERET 16 16 ( - )i 100.0% - - - -
BEHR izg (=4 =) 2 2 ( =) 100.0% - - - -
BEHRE BEAR B mET 1 1 ( =) 100.0% - - - -
BmWR HE AR =Ea2: 12 3 ( =) 25.0% 9 - - -
ERE BEER SIRFET 12 5 ( =) 41.7% 7 - - -
&5t 101 7 =) 76.2% 17 7 - -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

A)L1E ( f;:)gﬁ;{l;gr?@i
TIA) 5 FHOTRERTET) Dt .
* R A T (%) @mpEE~ | FEES
AR AT H233 31 (ER) EL LS BrvERs | BEE
H23.3.31 ° FUALE r—J) (HESR %) B
HE FLEHRA
SiRE BT 25 23 ( =) 92.0% - 2 - -
ERE EET 31 30 ( - ) 96.8% - 1 - -
SiRE HER 5 4 ( =) 80.0% - - 1 -
ERE HHET 43 12 ( - ) 27.9% - 31 - -
SiRE PN 42 42 ( =) 100.0% - - - -
ERE REM 26 12 ( - ) 46.2% - 12 2 -
SiRE LE™ 19 19 ( =) 100.0% - - - -
BRE Erfgh = = =) ~ - - -
SiRE J\RE  RHEHRT 4 1 ( =) 25.0% - 3 - -
BiRE Z2E8  BHERT 3 3 ( =) 100.0% - - - -
SiRE 511D EFIN 1 1 ( =) 100.0% - - - -
BiRE 2B JIIARET 4 4 ( =) 100.0% - - - -
SiRE BEE SSRET 11 4 ( =) 36.4% - 7 - -
BiRE 2B =Xl 16 16 ( =) 100.0% - - - -
SiRE BRE  EMEFET 4 3 ( =) 75.0% - 1 - -
BiRE EER AR -1 28 2 ( =) 7.1% - 26 - -
SiRE (=TG24 T 4 2 ( =) 50.0% - 2 - -
BiRE IRUEER 75/ SHET 5 5 ( =) 100.0% - - - -
BiRE [RUER PR SHET 13 10 ( =) 76.9% 3 - - -
&5t 284 193 ( -) 68.0% 3 85 3 -

O FBESNABITT HIERDEH




D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#72%7?%%??@&1) Z0Hh
T =3 & g .
H23.3.31 J T =7 (MEE% %0 (e 50
s FLEHRA
I sl 47 4 ( ) 93.6% - 1 2 -
fiE] LR £ 0i0) 7 7 ( ) 100.0% - - -
T =)o) 11 10 ( ) 90.9% - 1 -
fiE] 1Ly EHW 3 3 ( ) 100.0% - - -
fiE] (L LT 7 5 ( ) 71.4% 1 1 -
fiE] 1Ly FIET 7 7 ( ) 100.0% - - -
Ty #tt 7 6 ( ) 85.7% - 1 -
fiE] LR SEa 10 10 ( ) 100.0% - - -
FATITEY HR® 46 46 ( ) 100.0% - - -
fiE] 1Ly fwaT™ 34 27 ( ) 79.4% 5 - 2 -
e L8 HMEAT 8 7 ( ) 87.5% - - 1 -
fiE] LR R 27 25 ( 1) 92.6% - - 2 -
FATITEY HEM 67 65 ( ) 97.0% 1 1 -
fiE] LR EEH 79 75 ( ) 94.9% - 4 -
e L8 ZOm 1 1 ( ) 100.0% - - -
fiE] 1Ly KA AT 22 21 ( 5) 95.5% - - 1 -
e L8 ERZEER T 1 = { ) - - 1 -
fiE] LR HRER HEFR 6 6 ( ) 100.0% - - -
FATITEY g AR AT 2 2 ( ) 100.0% - - -
fiE] LR AKE  AKEHET 4 1 ( ) 25.0% - 3 -
T AKER KX ET 28 28 ( ) 100.0% - - -
fiE] LR IER  EHiERET 17 8 ( ) 47.1% 1 8 -
Ait 441 404 ( 6) 91.6% 8 20 9 -

O IEHESNABITTHERDEHS



D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7732%7%[%@;@&1) Z0Hh
T =3 & g N
H23.3.31 J T =7 (MEE% %0 (e 50
s FLEHRA
LER N 71 61 ( 1) 85.9% 1 1 8 -
=T A 28 16 ( 1) 57.1% 2 - 10 -
LER IR 21 16 ( =) 76.2% - 4 1 -
L5R ZRm 16 15 ( =) 93.8% - 1 - -
LER EBE™ 26 25 ( =) 96.2% 1 - - -
L5R &l 61 54 ( 2) 88.5% 4 - 3 -
LER FEep 20 19 ( =) 95.0% 1 - - -
=T =Rk 47 47 ( =) 100.0% - - - -
LER FER 119 75 ( 9) 63.0% 43 - 1 -
LE5R K 12 10 ( =) 83.3% ~ - 2 -
LER EVNCT i 39 32 ( =) 82.1% 1 4 2 -
=T Hamh 17 17 ( =) 100.0% - - - -
LBR REE@EM 86 84 ( 4) 97.7% 1 - 1 -
LE5R IHRE™ 2 2 ( =) 100.0% - - - -
NCTS REE S EHET 1 ( =) - - 1 -
L5R TR IR HET 3 1 ( =) 33.3% - - 2 -
LER WEE REKHET 18 13 ( =) 72.2% 5 - - -
L5R g  dLESET 30 24 ( —) 80.0% - 6 - -
NCTS LBHE KL SHE 4 4 ( =) 100.0% - - - -
=T HFEER 1t FEET 27 27 ( =) 100.0% - - - -
LER #EEH MESRET 21 21 ( =) 100.0% - - - -
At 669 563 (17 ) 84.2% 59 16 31 -

O DIFBESNABITT HIERDEH



D HEEHERT 2O —F <y (HETF BI)
BIEHEFEELD (H23. 3. 31RE)
TR )L (7-)-7_;%7%;1[%':1??@&‘0 Z01th
TV s & : .
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
IT=)'-} TEm 25 23 ( ) 92.0% 1 - -
ITf=)"} FETH 1 1 ( ) 100.0% - - -
if=]=} o 4 4 ( ) 100.0% - - -
ITf=)"} Fxih 7 7 ( ) 100.0% - - -
if=]=} T 3 3 ( ) 100.0% - - -
=]} HET 39 38 ( ) 97.4% 1 - -
if=]=} LB 3 3 ( ) 100.0% - - -
g EZa) 23 17 ( ) 73.9% ~ - -
IT=)'-} Armm 8 8 ( ) 100.0% - - -
wRg NN =0 2 2 ( ) 100.0% - - -
wmng KEH FEBKSHET 2 1 ( ) 50.0% - - -
wRg NI FNAHET 1 = { ) - - -
if=]=} HEER i) 2 1 ( ) 50.0% - 1 -
wng REM HEMGE 1 1 ( ) 100.0% - - -
=]} HEER T AHT 1 1 ( ) 100.0% - - -
&it 122 110 ( ) 90.2% 2 1 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

s TURIAEEE
AR HRATH e T*{ngb Tiwn T s e
Hzsas ﬁ;ﬁsiiﬁ) (o] FORLIE br—7 B | demn
13} F I (MEE%%E0
s FLEHRA

meR e 21 21 ( =) 100.0% - - - -
meg Ll 10 7 ( =) 70.0% - 3 - -
meR IMNRBT 6 6 ( =) 100.0% - - - -
meg FIE 59 59 ( - )i 100.0% - - - -
meR aHHIH 21 21 ( =) 100.0% - - - -
meg EJ) 49 49 ( - )i 100.0% - - - -
EEATS =W 51 51 ( =) 100.0% - - - -
EER B ER g5 3rET 1 = ( =) - - 1 -
meR BERER £ BT 8 8 ( =) 100.0% - - - -
meg HEERER EIRET 7 7 ( - ) 100.0% - - - -
meR BERER BlsET 24 24 ( =) 100.0% - - - -
BesR REFAR ElA=T 1 1 ( - )i 100.0% - - - -
meR EEE  DHFHE 18 18 ( =) 100.0% - - - -
meg =HE HRAKLET 7 7 ( - )i 100.0% - - - -
At 283 2719 (. -) 98.6% = 3 1 -

O IEHESNABITTHERDEHS




i HEEFEER T 2L O—F <y T (HETH A
BIEEEED (H23. 3. 31/A)
TR )L (7-)'7_;%7%;1%':’[??@?‘0 Z01th

TV s # : .

H23.3.31 (9] T =7 (MEE% %0 (e 50
s FLEHRA

FNg S 3 2 ( ) 66.7% 1 -
FNE EaR-ci) 3 3 ( )i 100.0% - -
FNg e 4 3 ( ) 75.0% 1 -
FNG gqEFh 1 = ( ) - -
FNRE  mhdbm 8 8 ( ) 100.0% - -
FNNE = 7 5 ( ) 71.4% - -
FNR INE AR T ERT 7 6 ( ) 85.7% - -
FNR INEE NEEHET 4 3 ( ) 75.0% - -
FNE AR f&)118T 9 6 ( ) 66.7% - 3 -
&it 46 36 ( ) 78.3% 5 5 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

e TURIAEEE
AT AT Ik T*{ngb T T (—/.5_?;;;1%? et
H23.3.31 Lﬁ‘zﬁsiiﬁ) [9] oAt P #zﬁzﬁb;b (Kﬁgx%&)
13} F I (MEE%%E0
s FLE#RA

2R NI 26 17 ( ) 65.4% 1 - 8 -
BRR 58 47 42 ( =) 89.4% 1 - 4 -
ZRE FHET 79 73 ( =) 92.4% - - 6 -
FRE J\WEET 3 3 ( 1) 100.0% - - - -
ZRE FREET 9 8 ( =) 88.9% 1 - - -
ZIRE & 12 11 ( =) 91.7% 1 - - -
2R KM 57 39 ( ) 68.4% 9 - 9 -
BIEE BPH 31 31 ( 1) 100.0% - - - -
FRE  mESRH 9 9 ( 1) 100.0% - - - -
B2 i i) 66 66 ( 3) 100.0% - - - -
2R BRT 6 6 ( ) 100.0% - - - -
BIER MEH LB 3 3 - 1000% - - - -
BIEE EFNE ABERET 43 34 ( =) 79.1% 9 - - -
FRE FFER FEERET 5 3 ( =) 60.0% 2 - - -
BRER EZR AN F-BT 71 68 ( 4) 95.8% 3 - - -
BIRR JLFE HAEFET 28 28 ( =) 100.0% - - - -
BRER Jb=FME SRALET 70 70 ( 1) 100.0% - - - -
BIRR BFMA R 30 30 ( - )i 100.0% ~ - - -
Ait 595 541 ( 11) 90.9% 27 - 27 -

O IEHESNABITT HERDEH



D HEEHERT 2O —F <y (HETF BI)
BIEHEFEELD (H23. 3. 31RE)
TR )L (7-)-7_;%7%%':’???0 Z01th
TV s & : .
H23.3.31 FSHLE r—J (FEE5%0) Bx
s FLEHRA

SR E=Eabil 40 32 ( ) 80.0% - 8 -
oy ERM 9 9 ( ) 100.0% - - -
SR REM 10 10 ( ) 100.0% - - -
oy AmEm 8 6 ( ) 75.0% - 2 -
SR tiEH 9 6 ( ) 66.7% - 3 -
EHE AT 5 5 ( )i 100.0% - - -
EHE BEM 17 17 ( )i 100.0% - - -
SRR EEK® 22 19 ( ) 86.4% - 3 -
SR mE+H 30 29 ( ) 96.7% - 1 -
=R Emm 1 1 ( )i 100.0% - - -
SR FEM 39 31 ( ) 79.5% 5 3 -
=S = FRFHT 5 4 ( ) 80.0% - 1 -
SR REE THET 3 1 ( ) 33.3% - - -
=S RER ElAlES) 10 10 ( ) 100.0% - - -
SR REE B 6 6 ( ) 100.0% - - -
=S KRR ZLLIET 4 4 ( ) 100.0% - - -
SR REE KEHT 21 19 ( ) 90.5% 2 - -
=S TR T {k8T 15 15 ( )i 100.0% - - -
SR &R KINF 5 5 ( ) 100.0% - - -
=S SR LNOET 32 32 ( ) 100.0% - - -
EHE ENE AZiE)IET 35 34 ( ) 97.1% 1 - -
=S EEA  LiEET 8 6 ( ) 75.0% - 2 -
SR = R &R £ )118T 9 4 ( ) 44.4% - 5 -
=S =R AN ET 17 17 ( )i 100.0% - - -
SR = R &R B[R ET 15 15 ( ) 100.0% - - -
=S =R BEH 5 5 ( )i 100.0% - - -
SR = R &R R EFET 20 20 ( ) 100.0% - - -
oy =EE  mA5+E 27 27 ( ) 100.0% - - -
SR L2 X A#T 2 2 ( ) 100.0% - - -
oy S =R 10 10 ( )i 100.0% - - -
SR WELE R EET 16 16 ( ) 100.0% - - -
&it 455 417 ( ) 91.6% 8 28 -

O IIFBESNABITT HIERDEH




D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#73%7%1%351?@&1) Z0Hh
T =3 & g N
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
a2 E ) 19 18 ( 1) 94.7% - 1 - -
2R =R ™ 5 5 ( =) 100.0% - - - -
2R R KEA™ 3 3 ( =) 100.0% - - - -
L ABK™ 3 3 ( =) 100.0% - - - -
a2 BEAM 1 1 ( =) 100.0% - - - -
L BRI 7 7 ( =) 100.0% - - - -
a2 Rg 1 1 ( =) 100.0% - - - -
L =N 1 1 ( =) 100.0% - - - -
a2 & 40 40 ( =) 100.0% - - - -
L iTig ™ 1 1 ( =) 100.0% - - - -
a2 Za1mh 21 21 ( =) 100.0% - - - -
a2 Ealih 4 4 =) 100.0% - - - -
a2 INERTT 1 1 ( =) 100.0% - - - -
L FRET 4 3 ( =) 75.0% 1 - - -
2R R hEW 3 3 ( =) 100.0% - - - -
L fEiEm 1 1 ( =) 100.0% - - - -
2R R BEm 4 4 ( =) 100.0% - - - -
L ) 6 5 ( =) 83.3% ~ - 1 -
a8 BHAET 25 25 ( 1) 100.0% - - - -
L HROFEM 4 4 ( =) 100.0% - - - -
a2 RET 17 17 =) 100.0% - - - -
L SREEED  HREIET 5 5 ( =) 100.0% - - - -
2R R FEER FEHT 1 1 ( =) 100.0% - - - -
L FEEE B EET 2 2 ( 1) 100.0% - - - -
2R R TEERD = ET 2 2 ( =) 100.0% - - - -
=R FEEER A LIET 1 1 ( =) 100.0% - - - -
1BER =B FEET 1 = { =) - - 1 -
2R EER JK BT 1 1 ( =) 100.0% - - - -
2R R mEA fig] $E T 2 2 ( =) 100.0% - - - -
2R = )| #T 2 2 ( =) 100.0% - - - -
2R R LV =gl SARTHT 2 2 ( =) 100.0% - - - -
L AR RIER 8 8 ( =) 100.0% - - - -
2R R 1188 AT 4 4 ( =) 100.0% - - - -
L HJIER A HHET 1 1 ( =) 100.0% - - - -
a8 H)11E8 D] 1 1 ( =) 100.0% - - - -
L HJIEB 12T 2 2 ( =) 100.0% - - - -
2R R RERER Xii B BT 7 7 ( =) 100.0% - - - -
L REEA  AAOTH 5 5 ( =) 100.0% - - - -
BER A 58 2 1 ( =) 50.0% - - 1 -
L EHE LEAT 4 4 ( =) 100.0% - - - -
2R R EER LAY 1 1 ( =) 100.0% - - - -
&it 225 220 ( 3) 97.8% 1 1 3 -

O DIFBESNABITT HIERDEH




D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#72%7?1&%@;@&1) Z0Hh
T =3 & g .
H23.3.31 FSHLE r—J (FEE5%0) Bx
s FLEHRA
EES EB™ 2 1 ( =) 50.0% - 1 - -
EBER fEET 43 40 ( =) 93.0% - 3 - -
EEBER Bl 3 3 ( =) 100.0% - - - -
EBE FRREEW 4 4 ( =) 100.0% - - - -
EEBER BE&m 2 2 ( =) 100.0% - - - -
EBER N 4 4 ( =) 100.0% - - - -
EEBER WEE T 2 2 ( =) 100.0% - - - -
EBER wig™ 2 = { =) - 2 - -
EEBER SEER  HEET 3 3 ( =) 100.0% - - - -
EBEE SEERB  AOEET 1 1 ( =) 100.0% - - - -
EES FEHHER A EET 3] 3 ( - )i 100.0% - - - -
EBE MERE =k=t) 1 1 ( =) 100.0% - - - -
EES BREER ARET 2 2 ( - )i 100.0% - - - -
&it 72 66 (- 91.7% - 6 - -

O DIFBESNABITT HIERDEH




D HEERE R T 2L D — Ry T (ETALR)

WHEEEEDH(H23. 3. 311RF)

FoAIE (7#73%7%[5%%?@&1) Z0Hh
T =3 & g N
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA
RIBR R 30 26 ( ) 86.7% 1 - -
R et R 18 17 ( ) 94.4% 1 - -
RIBR B 7 7 ( ) 100.0% - - -
RIGR TRM 4 4 ( ) 100.0% - - -
RIBR HET 9 9 ( ) 100.0% - - -
RIEE *EM 15 15 ( ) 100.0% - - -
RIBR Sl 10 10 ( ) 100.0% - - -
RIFE nEM = = ( ) - - -
RIFE 4] 10 8 ( ) 80.0% 2 - -
RIFE i 3 2 ( ) 66.7% - 1 -
RIBR I 8 8 ( ) 100.0% - - -
RIFE TR REH 1 1 ( ) 100.0% - - -
RIFE RARATER  BRARATHT 5 4 ( ) 80.0% - 1 -
RIEE BRARMFER  )IIHRET 3 3 ( ) 100.0% - - -
RIBR RIEME  RIERHET 6 3 ( ) 50.0% 2 - -
RIFE JEHNHEER  MEERET 1 = ( ) 1 - -
RIBR JEHCER  fEAHT 1 1 ( ) 100.0% - - -
RIGE FMER LR SET 8 8 ( ) 100.0% - - -
Ait 139 126 ( ) 90.6% 7 2 -
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D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

FoAIE (7#72%7%15%@3‘_&1) Z0Hh
T =3 & g N
H23.3.31 (9] T =7 (MEE% %0 (e 50
s FLEHRA
N REAT 6 5 ( =) 83.3% 1 - - -
N T 5 4 ( =) 80.0% 1 - - -
N AT 4 4 ( =) 100.0% - - - -
N Kzt 7 7 ( =) 100.0% - - - -
N gt 10 9 ( =) 90.0% 1 - - -
ARG it 12 12 ( =) 100.0% - - - -
RERE Fi 7 7 ( =) 100.0% - - - -
REXE EXER 14 12 ( 1) 85.7% 2 - - -
N FHH 25 18 ( =) 72.0% - - 7 -
REXE FAgR T 5 2 ( =) 40.0% 3 - - -
N REM 50 47 ( 1) 94.0% 2 - 1 -
RERE T EEE 21 21 ( =) 100.0% - - - -
N EX:F: E-1 1 1 ( =) 100.0% - - - -
AR E&E A BAET 7 7 ( =) 100.0% - - - -
N EX:F: FKET 8 8 ( =) 100.0% - - - -
REARE AR KiEET 1 1 ( =) 100.0% - - - -
N Epiukal ZI5HT 2 2 ( =) 100.0% - - - -
AR BRI ERER /NERT 36 36 ( =) 100.0% - - - -
N FrIER AR ELLF 1 1 ( =) 100.0% - - - -
ARG BRI AR = FRAT 1 1 ( =) 100.0% - - - -
N FrIER AR FEA 3 3 ( =) 100.0% - - - -
REXE LIEEER ARET 11 1 =) 100.0% - - - -
N TIEEA AT 2 2 ( =) 100.0% - - - -
REXE LEEWER F{EET 3 3 ( =) 100.0% - - - -
N LA LLERET 54 52 ( =) 96.3% 2 - - -
AR J\RER SKJIET 2 2 ( =) 100.0% - - - -
N Z3bE FALEr 37 37 ( =) 100.0% - - - -
ARG ZEILER  EERKET 2 2 ( =) 100.0% - - - -
N BREZER SRET 1 1 ( =) 100.0% - - - -
N HREM ZRAHE 3 3 ( 1) 100.0% - - - -
N BREZER kE# 4 4 ( =) 100.0% - - - -
REARE BREEED AR 7 7 ( =) 100.0% - - - -
N BREZER AR 27 27 ( =) 100.0% - - - -
AR BREERD WETH 15 13 ( =) 86.7% - 2 - -
N BREZER BREEFT 23 23 ( =) 100.0% - - - -
RERE HREER HIFYE 4 3 ( =) 75.0% - 1 - -
REAR RER E>ld:) 7 1 ( =) 14.3% - 6 - -
&it 428 399 ( 3) 93.2% 12 9 8 -
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D3 S BRI

BT OANALD—R2 YT (HETAA)

WBEAFLD (H28. 3. 315#A)
TR (7')'7_;%7%;([;%2??@?{) Z01th

T =3 & g .

H23.3.31 (9] T =7 (MEE% %0 (e 50
s FLE#RA

b PN ) 36 31 ( ) 86.1% 1 - 4 -
RHE BIRFTH 3 2 ( ) 66.7% ~ - 1 -
b hiET 83 83 ( ). 100.0% - - - -
ROR BHET 124 124 ( ) 100.0% - - - -
KR {&fam 11 1 ( ). 100.0% - - - -
B =Es 3 2 ( ) 66.7% - 1 - -
KR EAR™ 27 25 ( ) 92.6% - - 2 -
RoR rEm 42 42 ( ) 100.0% - - - -
KPR EHEEM 14 14 ( ). 100.0% - - - -
KR ¥ 1 = ) - 1 - -
KR FiEH 39 33 ( ) 84.6% - - 6 -
AHR  BEREXBH 24 5 ( ) 20.8% - 19 - -
KR 2k 14 12 ( ) 85.7% - - 2 -
RoR E=®=m 23 23 ( ) 100.0% - - - -
b R B HET 2 1 ( ) 50.0% - - 1 -
RoR NEERD NLEHRT 30 30 ( ) 100.0% - - - -
b AR E/823:) 33 30 ( ) 90.9% 2 - 1 -
At 509 468 ( ) 91.9% 3 21 17 -

(

NEBESNABITT HIERDEH




D HEEFEER T ORI L0 —R <y T (RETH A
BEAEFED (H23. 3. 31

o TURIAEEE
MR AT sk T;?g%«t Tan T C‘Eﬁg}%é et
Heasal ﬁ;ﬁsiiﬁ) (o] FORLIE br—7 B | demn
13} F I (MEE%%E0
s FLEHRA

HiFE o 23 18 ( =) 78.3% - 5 - -
FFE g 5 4 ( =) 80.0% - 1 - -
HiFE ERT 25 17 ( =) 68.0% 1 7 - -
FFE B 7 4 =) 57.1% 1 2 - -
HiFE INFRTT 21 21 ( =) 100.0% - - - -
EFR BRET 10 7 ( =) 70.0% 3 - - -
HiFE S 10 9 ( =) 90.0% 1 - - -
FFE wET 13 12 ( 1) 92.3% - - 1 -
HiFE ZUDOM 4 4 ( =) 100.0% - - - -
FFE RERR EEAT 3 3 ( =) 100.0% - - - -
HiFE REEIRED T 5 4 ( =) 80.0% - - 1 -
FFE RGE  TXRRAM 18 18 ( =) 100.0% - - - -
HiFE RSE RILET 6 6 ( =) 100.0% - - - -
FFE RBE ER R ET 4 4 ( =) 100.0% - - - -
HiFE REFFE AT 2 1 ( =) 50.0% - 1 - -
FFE REMR  FEEM 60 60 ( =) 100.0% - - - -
HiFE REMFE  HEH 59 59 ( =) 100.0% - - - -
=IFR REIFED  SEIERET 28 = ( =) - 28 - -
HiFE TEIHFED =T HEET 17 6 ( =) 35.3% - 1 - -
EFR IR Bz 14 14 ( =) 100.0% - - - -
HiFE TEEIHFED  FHEET 15 14 ( =) 93.3% 1 - - -
&it 349 285 (1) 81.7% 7 55 2 -
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i HEEFEER T 2L O—F <y T (HETH A
BIEHEFEELD (H23. 3. 31RE)
FoAIE (7#72%7%15%??@&1) Z0Hh

TV s & : .

H23.3.31 ° T =7 (MEE% %0 (e 50
s FLEHRA

ERER | ERESM 48 41 ( ) 85.4% 7 -
ERER BEM 8 8 ( ) 100.0% - -
ERESR g 6 3 ( ) 50.0% 3 -
ERSR | MARH 7 7 ( ) 100.0% - -
ERBE HK T 6 6 ( ) 100.0% - -
ERER | #zxkT 16 14 ( ) 87.5% - -
EREBR BEEIAT 28 28 ( ) 100.0% - -
ERER REM 33 33 ( ) 100.0% - -
ERER T 15 15 ( ) 100.0% - -
ERER Z5m 49 46 ( ) 93.9% 2 -
BREE uszsaiHm 1 1 ( ) 100.0% - -
ERER mIDoFm 43 42 ( ) 97.7% 1 -
ERER @ EWEm 1 1 ( ) 100.0% - -
ERER TwEH 2 2 ( ) 100.0% - -
ERBR  EmAME 29 26 ( ) 89.7% 3 -
ERER FiEm 2 1 ( ) 50.0% 1 -
ERESR R 17 17 ( ) 100.0% - -
ERER (EBREEE Z=8& 2 2 ( ) 100.0% - -
ERER  ERESR +5# 4 4 ( ) 100.0% - -
ERER FEEEER  SDFAT 31 30 ( ) 96.8% - -
ERBE HiKEB RSHET 16 15 ( ) 93.8% - -
ERER BERAR BIKET 1 1 ( ) 100.0% - -
ERBE FFEER $5THT 10 9 ( ) 90.0% 1 -
ERER FFEE  FIKRBET 10 10 ( ) 100.0% - -
ERESR AR FF{ET 6 6 ( ) 100.0% - -
ERER RRER  IEFHET 7 6 ( ) 85.7% 1 -
ERER RER mEETE 2 2 ( ) 100.0% - -
ERER ERER EASEH 3 3 ( ) 100.0% - -
ERBE RER PNIE) 1 = ( ) - -
ERER KER FiaM 4 4 ( ) 100.0% - -
ERESR KEH  HEFRNET 21 21 ( ) 100.0% - -
ERER KEE HEJARET 4 4 ( ) 100.0% - -
Ait 433 408 ( ) 94.2% 19 -
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FoAIE (7#72%7%[%@;@&1) Z0Hh
TV s & : .
H23.3.31 ° T =7 (MEE% %0 (e 50
s FLE#RA
hHBE 1 8 7 ( =) 87.5% - - 1 -
PR it 1 = ( =) ~ - 1 -
hHBE T 1 1 ( =) 100.0% - - - -
ERR EEEE ESEEES) 3 3 ( 2) 100.0% - - - -
R EER  KEWKH 6 6 ( =) 100.0% - - - -
ERR E a0 A 1 1 ( =) 100.0% - - - -
R ESELEH R ERET 2 2 ( =) 100.0% - - - -
R RERER FaRET 1 = { =) - - 1 -
R EREB ERHEH 1 1 ( =) 100.0% - - - -
IPRRR ERA  AXEH 1 1 ( 1) 100.0% - - - -
&t 25 2 ( 3) 88.0% = = 3 =
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